GYMNASE DE BURIER MATHEMATIQUES

Factorisation II1

1. Formules du cube
a) ¥ =32 +3r — 1=
b) 2?4 92% 4+ 272 + 27 =
c) 2162+ 1082% + 18z + 1 =
d) 642® — 14422 4+ 108z — 27 =
e) 64z% + 125 =
f) 1— 82 =
g) 8x3 — 1222 + 6x — 1 =
h) 1—2%=
i) 2z + 122° + 242% + 162 =
) a - =
k) 64 — 827 =
1) 2423 + 10822 + 162z + 81 =
m) o’z — b =
2. Groupement
a) x° —22° —4r +8 =
b) 23+ 72’ + x4+ 7=
¢) z* —4z® + 92% — 36z =

d) 2° + 3z* — 162 — 48 =



e) zt + 323 —8r —24 =

f) 223 +42* — 32 — 6 =

g) 22t + 323 + 222 4+ 3z =

h) 272 — 5423 + 8z — 16 =
3. Méthode de complétion

a) 2t +4 =

b) 8lzt +4 =

c) vt + 222 +9 =

d) at+22+1=

e) ' —5x? 4+ 100 =

Réponses
1. Formules du cube i) x(z—1) (22 +z+1)
x4+ 1) (2 -z +1)
a) (z—1)3
k) (4 —2x)(16 + 8z + 422)
b) (z+3)°
1) 3(2z+3)3
c) (6z+1)3
m) (az — b)(a?x? + abx + b?)
d) (4z —3)3
2. Groupement
e) (4x +5)(1622 — 20z + 25)
a) (z+2)(z—2)2
£) (1—2z)(1+ 2z + 422)
b) (z+47)(z?+1)
g (2z-1)°

c) z(x—4)(22+9)
h) 14+2)(1 —z+x2)
(1—z2)1+z+22) d) (z+3)(z2+4)(z+2)(x—2)

i) 2x(x+2)3 e) (z43)(z—2)(z2 +2z+4)

f) (z42)(vV2z +V3)
- (V2z — V3)

g) =(2z +3)(z® + 1)

h) (2—2)(3z+2)(922—62+4)
3. Méthode de complétion

a) (22+42x+2)(2? —2x+2)

b) (922+6x+2)(9x2—6x+2)

c) (z%2+42z+3)(z? —2z+3)

d) @2+z+1)=%2-z+1)

e) (z2+5x+10)(22—52+10)
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